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Solving Equations w/ Variables on Both Sides
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# of Solutions

Linear equations have 1 Solution.
Some Linear equations have_NO Solution

Identity is an equation that is true for
All values of the Variables.



Determine if the equation has, 1 solution,
no solution, or is the identity.
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S More on Oct. 13, 2006

Linear Eguations
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A health club has two payment plans. You can
become a member by paying a $10 new member fee
and use the gym for $5 a visit. Or, you can use the
gym as a nonmember for $7 a visit. Compare the
cost of the two payment plans.
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